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Assurnc that a read operation takes 1 unit of time,
while a write operation takes 2 units of time. What is
the amount of time taken to complete the sorting?
Explain your reasoning used to compute the time
taken. Also, explicitly mention any other assumptions
that you may need.

sorting,

b. WAP in C language to find the last occurrence of a word in a
iven strins.

a. Consider the following arithmetic 
"rp."rrio., [ *.itt"r, h

Postfix notation. Translate B into its equivalent lnfix
Exprcssion; evaluate the infjx expression using algorithm.

P: 12,7 ,3,-,1 ,2,1 ,5,+,* ,+
b. A stack of INT is implemented using an aEay as the following

data type:
#define SIZE 20

. typedefstruct

{

int datalSIZEl;
int top;

] Stack;
Fill up the missing codes in the PUSH, pOp, and TOp
operations of the Stack.
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a. An
9,8,

i.

Assume that a read'operalion takcs 1 unit of time,
while a write operation takes 2 units of time. What is
the amount of time taken to complete the sorting?
Explain your reasoning used to compute the time
taken. Also, explicitly mention any other assumptions
that you may need.

array of 10 elements, al0:91, having valres [4,2, 6, 7, 1, 0,
5, 3l is to be sorted using insertion sort

I)raw a figure to show the progress of the sorting, (or
the above sequence of input values.

b. WAP in C language to find the last occurrence of a word in a
iven string.

a. Consider the following a thmetic expression p, *.itt"n i"
Postfix notation. Translate p, into its equivalent Infix
Expression; evaluate the infix expression using algorithm.

P. '12,7 ,3,-,1 ,2,1 ,5,+ ," ,+
b. A stack of INT is implcmented using an array as the following

data type:
,define SIZE 20

. typ(defstruct

I

int datalSIZEl;
int top,

lStack;
Fill up the missing co(les in the PIJSH, pOp, and TOp
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Writc an atgorithnr t" fi"d .h"A;;p;;.rt_ ot"_;i.;
:::::;l: 

.11 not in ,ir\utdr queue. \  h.rt is rh*.,duonrug.,,,r
circtrlar qut,uc over a simplt, queue?

a. What is the oufp"t,rf tf," f.ff._ii-
,incrude<stdio.h> rg program? Explain it

lheelement:32, 15,20,.]lr, i2 2q. Jo, B. l0 .ltar(, 
insertctl r.rn,..

ll^:l: :". jn".q,r"" ordpr inlo a Var I leap. Wnar ,"irt U* trreresultant Max Heap and the number ofer.hing", 
"na "tro 

*ritiqgry!&3lgo thm for Heapify 0 and Buitd-Heap0?wApincp.%ffir-__
in a given iouire li"k;;; ^"cverse every Sroup of k nodes

h. WAJ. in Cprogram to.rdd two polvnomial using:t. Dcsreu bascd r(.prescntatit)n

void f(int +p, inr +q)

I

P--q;
.p =2;

I

inti=0,j=1;
int main0
{

f(&i, &j);
pdntf(",/"d ,X,d n,, i, j);
getchar0;
return 0;

l
b. A-ssuln_e- that float takes 4 bytes, predict the output of followingprogram and explain it.
linclude <stdio.h>
int main0

float arr[5]- {t2.5. I0.0. jJ.5.90.5.0.5J;
float *ptrl 

= &arr[0];
float *ptr2 

= ptrl + 3;

printf("%t ", +ptr2);

printf("%d", ptr2 _ ptrl);

retum 0;
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Pulla a Huffman trE-froI the foll uency table:
B C D E I, C H

.20 .04 .07 1l .06 .0s .15

b. Sholr' the binary
insL,rting th., key

search tree that is obtained from after
8,11,5,7,9,6,10,-t4,'12. Redraw the tree after

Traversal

delcting the root.

c. WAP in C lan to find the size of a Bi

lonsllct the Binary Treetl*tr,8 fo ^rving fr."algo thms:
l,i-otder 9, B, 4,2, 10, S, 10,1, 6, 3, 13, 

,12,7

Pre-order: 1.2 4,B,e,5. I0. I0,3, b,,/,12,i3
b. WAP in C language [o convcrf lho conlonl uf Fi[. tu

Uppercase.
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